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Exercise 6.3

Question # 1
Find A.M. between

(1) 35 and 545 (i) x—3 and x+5
(iii) 1—=x+ x* and 1+ x + x°
Solution

@) 35 and 55

Here a:3\/§ and b:5\/§,so

_a+b=3\/§+5£=8\/§:4£

AM. =
2 2 2

(i) x—3 and x+5
Here a =x—3 and b=x+5
gt x-3+x+5 2x+2

A.M. = _x+1
2 2 2

(i) 1-x+ x> and 14+ x + x*
Here a=1-x+ x> and b=1+x+ x°

a+b_l—x+x2+1+x+x2_2+2x2_

2

AM. = =1+x"
2 2 2
Question # 2
If 5,8 are two A.Ms between a and b , find ¢ and b.

Solution
Since 5, 8 are two A.Ms between « and b.
Therefor a, 5, 8, b are in A.P.
Here q, =a and d=8-5=3

Now a,=a+d = 5=a+3 = 5-3=a =
Also a,=a+3d = b=2+303) =

Question # 3
Find 6 A.Ms between 2 and 5 .
solution

Let A,A,, A, A, A and A are six A.Ms between 2 and 5.
Then 2,A,A, A, A A A S arein AP,
Here a, =2 and g, =5

=2>a+7d=5 = 2+7d =5

> T7d=5-2 = Td=3 = d:%
So A1=a2=a,+d=2+%=l%
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A =a,=a+2d=2+2(¥) =2+%=2%
A=a,=a+3d=2+3(¥)=2+% =2/
A =ay=a,+4d=2+4( )=2+1y 'ZV
J=2+1%=2
J=2+187=3%

k

A =a,=a,+5d=2+5(

XRX

A =a,=a+6d=2+6(
17 20 23 26 29 32

Hence —,—,—,—,—,— are six A.Ms between 2 and 5.
77 7 71 17
Question # 4
Find 4 AMsberween B ad —=
o2

Solution

Suppose A , A, , A, and A, are four A.Ms between V2 and e,

B2
Then v2 ., A, A, , A, A, % are in A.P.

12
Here a,=\/5 and a,=—=
V2
:>al+5d=% :>J5+5d=% = 5d=%—~/§
12-2 10
S5d=—— = 5d=—f4
V2 2
2 _(V2)
= d=—m=—— = d=42
V22
=a, +d=2+J2=242

A
A=a,=a +2d =2 +22=32
A=a,=a +3d=2+32=42
A =a,=a +4d =2 +4J2 =52

Hence 242 ; 32 : 42 ; 5J2 are four A.Ms between /2 and =

Vol

Question # 5
Insert 7 A.Ms between 4 and 8.
Solution Do yourself

Question # 6
Find three A.Ms between 3 and 11
Solution Do yourself
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Question # 7
Find rn so that % may be the A.M. between «a and b.
Solution
Since we know that A.M. (i)
But we have given A.M. =% -------------- (11)
a” +b
Comparing (i) and (ii)
a’+b"  a+b
at+ b 2
= 2Aa"+b")Y=(a+b)a"" +b"")
= 2a"+2b"=a"+a""'b+ab" + D"
= 2a"+2b"—-a"-b"=a""'b+ab™"
= a'+b"=a"'b+ab"’
= a'—a'b=ab"' -b"
— g g p =g — pH
= a'(a-b)=b""'(a-b)
=W k¥
=> Z:—:: =1

I
—_

- (376 (4]

= n-1=0 =

Question # 8

Do Yourself
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Cross xing

cn=n—1+1



